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Model Set
Computer Science

Time :- 3 Hours 15 minutes (e =gex fa=r) Full Marks - 70
T ;3 EHe 15 e quiies — 70
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Instructions for the candidate :-

1. RleTeff ITR—UFD W AYAT U YRKIBT HHID (10 bl BT ) e
fored |
Candidates must enter his/her question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

2. oRIeefT JATEIE 370+ Tl H & IR S |
Candidates are required to give their answer in their own words
as far as practicable.

3. oIl oiR BRE W RY gy oie e Fifde axd
Figures in the right hand margin indicate full marks.

4. gedl B SMYdd Ugl & o1 wWientddl &1 15 e @1 srfaRad
SLEEACUIRIDIES

15 minutes of extra time has been allotted for the candidates to

read the questions and follow the instructions carefully.

5. g8 U YRAPT &1 WSl H §, Wus—3, Ud Eus—q |
This question paper is divided into two sections : Section-A,
and Section-B.

6. Gus—3 § 70 qEITS U B, [H A fHEl 35 Ul BT IR oAl
ARt g1 35 Ul 9§ 3P IR o W YA 35 IR Bl & ATDHA



BT (% & fog 1 8fp MeiRd 8) 9T SR <4 @ forv Sucte
R T OMR—STR 36 ¥ ¥ T Wal fAbey &1 &ret /el a7
U W W AN | [ Ml JeR @ ®EeR /A el / ©fs / Agd
e @& OMR SR Uad H YANT &RAT AT &, 3FAT GIel GRMMH
3T BT |

In Section-A, there are 70 objective type questions out of which

any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each carrying
1 mark. Darken the circle with black/blue ball pen against the
correct option on OMR Answer Sheet provided to you. Do not
use Whitener/Liquid/Blade/Nail etc. On OMR Answer Sheet,
otherwise the result will be invalid.

Yue—q ¥ 20 TSR U & | TS & o 2 ofw FuiRa g, R
| fh=sl 10 el BT SR <A1 A B | 9% AMfRad 39 WS # 6
4 I U A W | UR¥e & fory 5 o feiRd € R W
fp=el 3 gl &7 SR <7 it g |

In Section-B, there are 20 Short answer type questions, each

carrying 2 marks, out of which any 10 questions are to be
answered. Apart from this, there are 6 long Answer type
Questions, each carrying 5 marks, out of which any three

Questions are to be Answered.

Pl TRE & Solagi-id IUSHRYT HI YANT YUIdAT afsid 2 |

Use of any type electronic appliances is strictly prohibited.



Igus—31/ SECTION-A

(axqfss g39) /Objective Type Questions.

U WRYT 1 W 70 I b UAD YT & A1 IR fddey v W & o=+
H UH e B | 3 gRT g Y el fwed 1 OMR—¥ie R fafeq & | fad
35 Y} BT IR < |

Question No.- 1 to 70 have four options, out of which only one is
correct. You have to mark your selected option, on the OMR Sheet.

Answer any 35 questions.
1. PIF AT Th non-linear 1 )= g |

Which one is a non linear data structure.
A. Queue B. Tree
C. Struct D. Stack
2. gc W), 39 dfad § P’ a/an 2|

int P; in this line ‘P’ is a/an

A. Input function B. output function

C. variable D. data type

A. function B. operator

C. constant D. data type



A. data file B. header file

C. linker D. program block

DML®HTS &9 a1 8 ?
Which one is a DML command?

A. Roll back B. Insert

C. Create D. Update

One dimensional array may have........

A. Only columns B. Only rows

C. Only one cell D. Both columns and rows

Wh & folg BIF A1 SSYS B & |

Which one is an input function for stack?

A. POP B. PUSH
C. Binary D. Traversal
UHATHRUT BT 37ef 87

Aggregation means?



10.

11.

12.

A. Summarization B. Elimination

C. hiding D. Casting

MNAST fhaa) fagiyar 27

Overloading is a feature of ?

A. Procedural Programming

B. SQL

C. Non Procedural Programming

D. Object Oriented Programming

BT § 7

Indexing is ?

A. Design of objects B. Creation of objects

C. instances of objects D. Not related with objects

f=forRad 5 9 I e difoie e J Heed g ?

Which one of the followings is associated with Logic gate ?

A. AND B. For ()

C.IFU D. Break

T YOTTAT ... &1 yfaffeed o)1 & foTv v f&ar sirar g 2
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Number systems used to represent ?

A. Quantity B. Count
C. Value D. All of the above
13. &isld Y= AB+BC+AC .............. TR ST & 7

The expression Y=AB+BC+AC shows the ...... operation.
A. EX-OR B. SOP
C. POS D. NOR
14.  SQL % ®I9—d1 DML HHis T8l &7
Which one is not a DML command in SQL ?
A. UPDATE B. SELECT
C. DELETE D. GRANT

15. f=forRad 5 9 @9 91 T SQL HHITS ST &9l HRA & folU YT
fopar ST 8 ?

Which one of the following SQL command is used to enter data ?
A. CREATE B. INSERT
C. SELECT D. UPDATE

16.  SffmRfST Rew o9 @1 8 ?



Which one is an Operating system ?

A. LAN B. NIC

C. WWW D. None of the above

T 4 9 o4 th o B forv SyanT & fhar Siar © ?

Which one of the following is not used for LAN ?

A. UPT B. OFC

C. Coaxial D. Copper wire

frfoarRad # & &9 T $HREX -cad &I I St 8 ?

Which one of the following is valid topology of computer

network?

A. CABLE B. HUB

C. STAR D. NIC
QI Tep............ g7

Integerisa/an ........... ?

A. Built-in data type B. Constant
C. Derived data type D. Variable



21.

22.

23.

Listisa/an ........... ?

A. Derived data type

C. header file

Object & ... g7?

Objectis a/an ..........

A. Instance

C. Data type

Aim of OOP is to integrate ............

A. Program & Process

C. File and Disk

A. Actor

B. Method

C. Data

D. Design of data and methods

8

B. function

D. Builtin data type

B. Design

D. Operator

B. Function and Data

D. Input and Output



24.

25.

26.

27.

28.

3T BT ol 27

POS stands for ?

A. Sum of Product

C. Product of sum

Domain type is a/an ............

A. Data type

C. Attribute Name

Linkerisa ...........

A. Application

C. Topology

Aoy ey wefed € ?

CDMA is related with ?

A. Computer Network

C. Mobile system

KHz f&a 4 & g1 2|

B. Same on Product

D. Sample of Program

B. Column Name

D. Entity Name

B. Protocal

D. System software

B. Computing System

D. Internet



29.

30.

31.

KHz is unit measurement for .......

A. Light waves

C. Water Flow

Virusisal/an..............

A. Application software

C. Device

N 2O\
ALY DI [hHT AdIEld g7

Cyber law is related with ?

A. Hardware Protection

B. Server Protection

C. Internet access Protection

D. Online Fraud & Crime Control

MAX () waer Rest ?

MAX () function returns ?

A. Highest value

C. Negative value

10

B. Speed of air craft

D. Band width

B. System software

D. Process

B. Lowest value

D. Positive value



32.

33.

34.

35.

36.

UfgeR Pl ........ symbol &1 ITINT &R ST Sl © |

Pointer is denoted by using symbol

A # B./

C.”* D. +
LIKE % @@t oo <9 STT H ASQ X1 7 |
LIKE % clause helps to ............... table data.
A. Summarize B. Sort

C. Filter D. List

S TF g |

DOS is a/an.............. :

A. Operating system B. Compiler

C. Editor

A () ®aere Red ?

MIN () function returns ?

A. Highest value

C.Negative value

ON O\ O\

fr=feRag # ¥ ®I9 97 ifRex & wU d cout & a1 g fhar <rar 8 2

11

D. Inter preter

B. Lowest value

D. Positive value




37.

38.

39.

Which one of the following is used with cout as operator ?

A. << B.>>

C.> D. <

foreifaRag & @ @9 91 SfRer & wT # cin & 91 v fhar orar 2

Which one of the following is used with cin as operator ?

A.<< B.>>

C.> D. <

U AT FORIH U ST bR I~ R Pl &8l 81l & ... P & |

A language which has the capability to generate new data types

is called........
A. Extensible B. Overloaded
C. Encapsulated D. Reprehensible

Il 3R S99 GefSd a1 Bl Uh gbls H & Pl ..o @ ®Y H ST ST
=

Wrapping data and its related functionality into a single entity is

known as.........

A. Abstraction

B. Encapsulation

12



40.

41.

42.

C. Polymorphism

D. Modularity

Ife W UGN BT Uh BT B9 A SISl WAl 8, df §9 cIUTarol bl Hal

SIS

If all devices are connected to a central hub, then this topology

is called
A. Bus topology B. Ring topology
C. Star topology D. Tree topology

........................ T <9 | fIRre ©U 9 Ud <ud @1 UgAN &R @l AT <dl

gl

......... allow us to identify uniquely a tuple in the Table.
A. Superkey B. Domain

C. Attribute D. Scheme

T () =7

AA+B)=7?

A. AB B. 1

C.(1+AB) D. A

13



43.

44.

45.

46.

A ++ A aD BN U F a8 37T AT BIST Bl BT &1 & 7

What is the way to suddenly come out or quit any loop in C++?

A.Continue; Statement B. Break; Statement

C.Leave; Statement D. Quit; Statement

If..... else weclic &I fha 3TN gRT Il Sff Jdhdl § ?

If....... else statement can be replaced by which operator?
A. Bit wise operator B. Conditional operator
C.Multiplicative operator D. Additional operator

=T 3§ 1 I A9 Aenford U™ & forg |99 Iugad © 7

Which of the following is most suitable for a menu- driven

program ?
A.For B. While
C. Do - while D. All of the above.

ffaRad # 9 59 TR & o) & 91 Uh Rad fFaior & SwanT fear o

JbdT 8 ?

A switch construct can be used with which of the following types

of variable ?

A.int B. int, char

14



47.

48.

49.

C. int, float, char D. Any basic data type

QRIGRTIAT &l AT S B R B W U YAl BT e 3T SUYN
[ERIBSINIE

Which looping process is best used when the number of

iterations is known ?
A.While loop B. For loop

C. Do while loop

D. All looping process require that the iterations be known.
U B AR b FeeHe forem &1 Far ywrg BT § 2
What is the effect of writing a break statement inside a loop ?

A. It cancels remaining itrations.

B. It skips a particular iteration.

C.The Program terminates immediately.

D. Loop counter is reset.

C++, C o1 Us faR 8 R ... BT Tl D fIRIwar &7 U v
SIS

C++ is an extension of C with a major addition of the class

construct feature of ..........

15



50.

51.

52.

A.Simula 67 B.Simula 57

C. Simula 47 D. Simula 87

......................... UUTR gRT 9910 U =RI, B/, RO, FId Iffe &AMl &l

.......... refer to the names of variables, functions, arrays,

classes etc. created by the programmer.
A. Keywords

B. Identifiers

C. Constraints

D. Strings

g m3IAR nint IPR & TR B, A old T IRUMH &7 BT ?

TH%UT 5id TH= 5 R TA= 2 ?

If m and n are int type variables, what wil be the result of the

expression m%n when m=5 and n=2 ?
A.0 B. 1
C.2 D. None of the above

................. STl AR IS FfId HrRIT Bl Th AT 9 BT U aeidhl
g S ST 3R Sl & f5ur @l oA <ar g |

16



53.

54.

95.

............. is a way to bind the data and its associated functions

together which allows the data and functions to be hidden.

A. Structure B. Class

C.Enum D. Both A and B

Operators such as ........ cannot be overloaded.
A + B. ++
C.: . ==

I GT HRRE d15ed H Uigey U HRA AT Slaid &l aadq Rerfa

e g |

Which function return the current position of the get or put

pointer in bytes.

A.tellg () B. tellp ()

C. tell () D. Both Aand B

A gad & 9 4t T8l ® ?
Why reference is not same as a pointer

A. A reference can never be null.

17



56.

57.

58.

B. A reference once established cannot be changed

C. Reference doesn’t need an explicit dereferencing mechanism

D. All of the above.

C++ fhdd UHR & IgHIdI &7 FHH HT & ?

How many types of polymorphism are supported by C++.

A1 B. 2

C.3 D. 4

frforRaa # 9 g s@uRoT &1 &1 f U™ & dod & SRIE S9H

U "edh Silel § ?

Which of the following concepts means adding new components
to a program as it runs?

A.Data hiding B. Dynamic typing
C.Dynamic binding D. Dynamic loading
PrifeRad # & P |1 gRedor C++ gRT S & ?
Which of the following approach is adapted by C++.

A. Top - down B. Bottom- up

C. Right - left D. Left - right

18



59.

60.

61.

62.

Converting the Boolean expression LM+M (NO+PQ) to SOP

form, we get
A.LM+MNOPQ B. L+MNO+MPQF
C.LM+M+NO+MPQ D. LM+MNO+MPQ

@i A(B+C+D) # faavor fm o &9 R, & ... Tl BIAT © |

Applying the distributive law to the expression A(B+C+D), we

get..............
A.AB+AC+AD B. ABD
C.A+B+C+D D. AB+AC+AD

FefeRad % & I |1 IR0 (o oo & fIaRor s &l

GFd Pl & ?

Which of the examples below expresses the distributive law of
Boolean algebra ?
A. (A+B)+C=A+(B+C) B. A(B+C)=AB+AC

C.A+(B+C) = AB+AC D. A(BC) = (AB)+C

FefeRad H | @9 |1 SR U & HH Ay FEE @ e

AT B |

19



63.

64.

65.

Which of the examples below expresses the commutative law of
multiplication.

A. A+B=B+A B. AB=B+A

C. AB=BA D. AB=A"B

A....... BT STINT SeoF & T fSorrss & uR¥Iia &= & forv
fopar SIaT 2 |

A is used to define overall design of the database.
A. Schema B. Application progress
C. Data definition language D. Code

Grant and revoke are ........ statements.
A.DDL B. TCL
C.DCL D. DML

dTfoThT H Pictd bl FINT BT & forw . HHIS BT STANT fHar

ST Gehdl & |

.......... command can be used to modify a column in a table.

A. Alter B. Update

C. Set D. Create

20



= g1 9= w9 3NF & 939 © ?

Which normal form is similar with 3NF.

A. 1NF B. 2NF
C. BCNF D. 4NF
FrefeiRad & & I 918 gRem & oy WaRT T8l 87

Which of the following is not the External security threats.

A. Front-door threats

B. Back-door threats

C. Underground threats
D. Denial of service (DOS)

fererforRag & & &9 |1 St faf &1 gvifaa aier =81 2 2

Which of the following is not the possible ways of data

exchange?
A. Simplex
B. Multiplex
C. Half- duplex

D. Full duplex

21



69.

70.

IR B § uré Fa) @1 fafdse dxar 2 ?

What does the port number in a TCP connection specify ?

A.lt specifies the communication process on the two end
system.

B. It specifies the quality of the data & connection.

C. It specifies the size of data

D. All of the above.

fereforRad & & @ A1 icidia gigare ok & aRufYg g /8 2
Which of the following protocol is/are defined in Transport layer?
A. FTP. B. TCP

C. UDP D. B & C both

Jus—9 / Section-B

g S 939 (Short Answer Type Questions)

U AT 1 W 20 Tb Y SR B | Bl 10 U B IR | U B oIy 2
i feffRa 2 |

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks.

TTH RIS 3R IS ae HT aRWINT & |

Define ENCAPSULATION & ABSTRACTION.

22



10.

11.

C++ ¥ JIRTHa SiTIReRT @ Al 9918 IR S9Ta Hral &l ARAT I |

List logical operators in C++ and explain their functions.
Ricea & e clrser () & for () & ware fofay |

Write the functions of clrscr () & for (') with syntax.

P 3N HAR DI AT DY |

Explain stack & queue.

fHd T @IS dh-Id Bl FHSSY |

Explain any one searching technique.

IRNTAR FHoll AR IR—Foll fIRTATA BT ARAT P |

Explain candidate key and non-key attributes.

DML &I aR®IiSd & @ik ¥4 DML wHie &1 g & |
Define DML and list all DML commands.
yeiferes uRar Feaat (MAN) @1 oRwifiva o |

Define Metro Politian Area Network (MAN).

UIeIdbld a7 8?2 -Icdd UIChid & UBRI Bl AT P |
What is protocol ? Explain types of network protocols.
Ffeafad & A 3R’ difote e ST 3 |

Draw “AND” logic gate with expression.

ST 31ftR® (redundancy) & RS P |

23



12.

13.

14.

15.

16.

17.

18.

19.

20.

Explain data redundancy.

SCIIT ATHTITANT BT AT BN |
Explain database normalization.

gferaT variable &1 {9y |

Explain Boolean variable.

et arferet @1 PdIfeAfercl & 9SSy |

Explain cardinality of a table.

N -

foide foRe & SUYANT &I qui P |

Describe use of linked list.

o UrER e | g v

What is preprocessor directive ?

BIS5d U 3R g @Isd U H T 3R & 2

What is the difference between while ( ) and Do while ()

Loop?

U sdodc d Editor &1 w1 aneE g ?

What is the role of Editor in program development.
JergeH B gRIRT @ifvrg |

Define Inheritance.

ufedTd SeRBE &1 7 7

What is public interface ?

24



e Sa9a 939 (Long Answer Type Questions)

U T 21 9 26 dd a" SR = | sl 3 Ul & SR | YD & fov 5
3 fReiRa € |

Question nos. 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks.

21. T ST ERON Bl gRYINT o iR C++ YU &1 SUINT B
s draad Bl fexany |

Define two dimensional array and show its implementation using

a C++ program.

22. a7 @& W& Wer o9 & forv C++ umg ford iR fr o &t
A R & |

Write a C++ program to accept number of the day then display

name of the day. (e.g. 1- Sun 2- Mon etc.)

23. B9 & <1 BION BT Tof FRA IR AT BT Wio & g C++ #
T g ford |

write a program in C++ to enter two angles of a trangle

and find the third angle.

24.  UH G B B AR UREY B T0FT AR UeRid -1 & forg C++
U Iifsoide MRucs U™ ford |
Write an object oriented program in C++ to calculate
and display the area & perimeter of an square.

25. JANI SAERCE B USRI &=+ & fog C++ # sffesiae 3fiRucs
g for |

25



26.

Write an object oriented program in C++ to demonstrate class

inheritance.
KM @1 cm 3R mm ¥ g 3R UeiRid &xd & fov C++ & 1
oo forg |

Write a program in C++ to convert & display KM into cm

& mm.
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